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0, zero = When you add zero to any number the sum | #$BEEMEAEM , BADEFRERHE,
is that number.
. ® . @
L L
. 8 . @
5+0=5 5+0=5
above £....F@E The kite is above the rabbit. RSERFH L,
R
E:E\ !}:',.f' -
€
o - e
3+2=5 3+2=5
addend NS | +3 =4 | +3 =4
A/ N/
addend addend
addition sentence IR 2+ 1 =3is an addition sentence. 2+1=3R—fAMZEHER,
after T2 % 48 is just after 47. 48 BIETE 47 2,
are left I & 2 @

. are left

XY’

Grade 1 Chinese



balance F 8
bar graph 3 'E Foods We Like i 'E Foods We Like i
L @ pizzo | L @ pizza |
° " & foco e ¢ ftoco
£ 4 oo I £ # oo I
01 2 3 4 5 & 01 2 3 4 5 &
Humber of Children Humber of Children
EZNRY
RYESR
He st
SR ERS
M
REAH
before ... . oH 46 is just before 47. 46 fLA 47 28,
behind ... . BH
-8 h =
The sun is behind the cloud. AEEERE,
below #.. .. FE The rabbit is below the kite. RFERSEN TH.
between £...28 47 is between 46 and 48. A7 7£ 46 B2 48 2.
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capacity Bk Capacity is the amount a container holds. BREER/NBME,
cent E4H A penny is 1 cent. — SRR RD
circle 1]
compare Hs Subtract to compare groups. REARAER , AT,
TITIERTIY
E—Y4 = S =]
cone ) it . ’
corner £
fal fal
corner corner
count back buat ¢
EEEEEEEEELLE: EEEEEEEEELLE:
5—2=3. BE—2=3.
Count back two. BEWEE.
You are on 3. BHES.
count on JE B 4+2=6 4+2=6
Say 4. Count on two. 5, 6 ft4amth | IEBMERS, 6

Grade 1 Chinese



h ot ' '
curved surface ] Some solids have a curved surface. REvENRMmAHE,
difference £z 4-3=1 4-3=1
The difference is 1. EHIRER A1,

dime —EAE s : - i

() o @D 1 2

\;‘ﬂff . -/ l0cents o, &E =4 1024
doubles L3 5+5=10 5+5=10
doubles plus one 40— 3+3=6,s03+4=7 3+3=6,FA3+4=7
down T up F

down

equal amounts e Here are two ways to make equal amounts

for 26¢

Grade 1 Chinese



“essssesas) Il

10 is the greatest number.

fact family B A fact family uses the same numbers to TEEESE A FERN LR
make addition and subtraction sentences. BOEER.
e s e e o) @I TTT s e e s o) e 2T
Yy+5=9 g-5=Y4 Y+6=9 9-5=Y4
oo o) TR e e e iR
5+4=9 ?—H? SR St
far = The rabbit is far from the tree. SR FBERHMRIE,
fewer o ceccccecce cecececee
ey iy
8 8
=8 a2
3 3 fewer birds 3 LT IER
flat surface Fm Some solids have flat surfaces. HEVENXREATH.
restest BAH Teveeesl Y oo B
Teseses e} Teseses e}

Crssssssaa) il
LBl 10 RERNE,

Grade 1 Chinese



half hour EWIN A half hour has 30 minutes. MINEEHE 30 piE,
hour /J\H%
hour hand Erat
hundred 18 LN IR 18 18 18 1§ 18 18 1
B EE RS
' mom
' om
m | b
moEom 1
EEREEEEE R e
EEEEnE R e e
RN RN
in front of T B
t;.:"' : -:_r...;""' !
The bird is in front of the cloud. EEENHE.
is equal to = ZR = 2 plus 1 is equal to 3. 201 %R 3.
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is greater than > KR > 9 is greater than 6. 9 KR 6,
DoooOo B Teeeest s
Teeeeeeee) ¢ Teeeeeeea) v
T>6 T>6
is less than < IR < 9is less than 11. 9 /MR 11,
DOOOOOnD DoooOOnD A
DooooooTn Ny Dooormonrrn g
<11 < I
feast B oo B oooooo
DoDDOOOD A DoDDOOOD A
DOOOOTOTn B OO Al
7 is the least number. i 7 ER/ANEL
left of .3 ] The kite is to the left of the bird. RBEERNEE,
/‘ v /‘. ;
longest 2R e ———| 0N ST e ———| [ON)e ST

— -
o — -|

e -|
[ — |
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make a ten =+ Move 2 counters into the ten frame. Make a # 2 BEFHRATERN. Rt
ten.
s oeee® ¢ eeeee
14 oeeww 44 oleeww
|2 ;0 |2 B
measure p:f - Lse O to measure Ae— ARBENTRE,
short things.
minus i 4-3=1 4-3=1
4 minus 3is equal to 1. 45/ 3ER 1,
minute oiE An hour has 60 minutes. —/NEFEE 60 PEE,
minute hand %8t
more 2R
BH2HETF
near ... HHE LA R B

Grade 1 Chinese



next to KM . Bk The bush is next to the tree. EABERRER,
. W Y
nickel 1. T, .
i o )
L A O \\- 2| 5cents \_ i |
- = 5%%
number line B B EREEEEREE R B EREEEEREE
one less H— One less than 39 is 38. te 39 > —H"R 38,
= —HTH -
= EEE
E S
= HHHET
one more %— One more than 39 is 40. t 39 Z—MER 40,
ones - 10 has 1 ten and 0 ones. 1028 1@8+M0E—,
order & You can change the order of the addends. A AR MBI IRF -
| +3=Y4 A+ 1 =Y | +3=Y4 3+1 =4
part B Add the parts to find the whole. EEAPEM AR L.

part part whole

part part whole

Grade 1 Chinese



pattern b: %ii) You can use a pattern to show ways to AU —EARERTER 7 WA Z,
make 7.
pattern unit BRET
penny — o E%
picture graph B Fruifs We Like | Fruits We Like i
o orongss 8 @ ! o orongss (@ @ |
® gupes (8 (8 (8 8 @ | 8 gupes (@ 8 & @ @ |
@ pecche: BWO® | 0| | @ pecche: BB ® | |
EENKR
¥
25
HF
plus pill 2 plus 1 is equal to 3. 2M1ER 3
2+1=3 2+1=3
pyramid bod A
quarter —8FH ST,
ATS /: v D Ed 25¢
t?::i-/mr ' ﬁr-:'r--. 25 cents
rectangle E5F

Grade 1 Chinese



rectangular prism R - -
related facts B EE Related facts use the same numbers. HREEXEAARNE
5+3=8 5+3=8
8—-3=5 B—3=5
repeating pattern EAER A repeating pattern haza group that repeats EEERGE —EETESE,
over and over.
" 3R B | DA BO N BN
right of ... 5% The bird is to the right of the kite. RERSEEAR.
rule 1=A| ﬁurrtrj]lbeel;or this table is Add 2. Add 2 to each WEMBRBIZN2, 28 SEEHEM.
Add 2 Add 2
> " 2 4
a y 3 5
" 5 I &
A rule for this table is Subtract 1. Subtract 1 WROBAZRE 1. SEHEHAE 1.
from each number.
shortest Big - —~| shortest - — | shortest

ra——— |
| —

eee—— |
| —

Grade 1 Chinese



side ) 3
: B
You can sort these bears. AT LMSE
sphere R . .
square EHF
subtract i Subtract to find out how many are left. WEARRERSEHE,
btracti t
subtraction sentence AAER 4 -3 =1is asubtraction sentence. 4-3=1 2—EAREER,
sum A 2 plus 1is equal to 3. The sum is 3. 21 ZR3, FL 3.
take away BE Cross out the ones you take away. il &= BUERY SR 42 .
tally chart &
ally char HE &S Sports We Like Total Sports We Like Tofal
f r:-; soccer | L 11 B f r:-; soccer | L 11 B
Lt 3 Lt 3
EBRNED
EHy
BB
REHIK

Grade 1 Chinese



tally mark HE ¢ EG Each tally mark | stands for 1 child. SEFBMAC | AR 1 ERE,
HH stands for 5 children. R 5 B R E,
ten +
ten less b+ Ten less than 55 is 45. tk 55 D+HER 45,
ten more 2+ Ten more than 55 is 65. H55% 1+ K BR65.
triangle =A% i"_\ i i
up + up £
- -y
"I".-r | r-#% :'I"-'r - r}%
down T
whole = The whole is how many there are in all. ENRERARS DEOER,

part part whole

part part whole

Grade 1 Chinese



